Applying

Name Date Knowledge

Use with textbook pages 202-211. P e £ 3

Word equations

Write the skeleton equation for each of the following reactions. Then balance each of the
following chemical equations.

1. hydrogen + oxygen — water
Zh, +Q, VN6
2. iron(IIT) oxide + hydrogen — water + iron
FesD, + 34 - 3H.0 AJFe
3. sodium + water — sodium hydroxide + hydrogen
ZNo + 20,0 —2No0H  + Hy
4. calcium carbide + oxygen — calcium + carbon dioxide
(0,0 ¥ @i > J6p v (E
5. potassium iodide + chlorine — potassium chloride + iodine
ZERT ok ey s 2kE) & T
. chromium + tin(IV) chloride = chromium(TI) chloride + tin
HCr - +350Cls S0, #2350 ()
7. magnesium + copper(Il) sulphate — magnesium sulphate + copper

Mo + Cu%ﬁ.l —> Mo S0, & Cu

zmc sulpﬁate + strontium chlonde = 21}10 chloride + strontlum sulphate

Z(\QOLL + S\’C\ﬂ _% ch‘ﬂ *= gr Q()u,
9. ammomum chlonde + lead([[[) mtrate - amm’omum mtrate + 1ead(I[D chlonde

2NH,C| rPh(MDm =2 3MH, MO % PBCL,

10.iron(III) nitrate + magnesium sulphlde — iron(1II) sulphide + magnesium nitrate
2te (WMD), +3Ma§ > te S, + 3Ma(h0,),
11. aluminum chlori}de + sodium carbonate — alummum carbonate + sod1um chlonde
2A1C1, +3No O, —> Al, ((Q)s +biaCl
12.sodium phosphate + calcium hydroxide — sodium hydroxide + calcium phosphate
+ — +
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